EARAROBEEIERT — 2 N— IBISH —F

20165 7H9H (1) 5SHEEEFEI1A

Gl C2+—# 5% —MH% B IR
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
" AR 114, - . — REILET] (B%ME
1188 X /)T7HhUF "5 56.0 1(1_4)5 o 5.9 1 (5551) ‘EEEE%.:—EK
RGATAT v — BA—Y—FT8— [antie]
R NS EATE 14, - . — HEEE (BE
o055 TSI R4 4 4 56.3 1(7111:;5 1-1 38.3 2 a:g)a s
TS IRAK B:TIAFATT YT EiEEs
N AF8E : - — FEER (KR)
sl 4| FRE Yy IN1O— 'O B0 s I ‘ f; -
L:FREy IINT— BNFTTO-X 2l &7
- N HER : - — 2IE— (KR
4 6| XTRT7A1 =4 ad ) 54.0 1(/71?:? i 5.4 8 ?_5“5) Jeim i
RO—TXA LA B/ —TNAOTF 4 — R 4is
N R AIESRE 4. — . — #HEE (KR)
517|777y bbb it 6 ) 1<714t>9 &8 5.6 ° (4_12 = %2 AEER
LRFAT—IERE B:HLYL Ty b R4S
O 43, o8 4 5 | BIRBRMA 1:15.0 6-6 82| — 7 459 | =EHEE (KiR)
EH 3| 7A77va> 54.0 (3/4) -5 |EBERS
R:TwITNKEry b BiLTFATa—F v — HATAT7—1h
o ° N AARRIRE : - — 1&iEthEl (KR)
2yl [ s=7ra-x o4 | BE & %S P hez=
L:ZAFAd—I K B:N—-Zh—1)— AL
> : 44 | ERRE 1:16.3 1-1 40.4| — 6 415 | BREEBAE (B%FE)
EH 2 XTARMNT—=ILR 56.0 (6) ) /J\H“}l;—?'r
R:wIhiz>y B:IaATFHAT *a—-EyrIT7—»L
@ 1—F—@&BIEf
13—7—
23— —
d2=7r= (2,4,5),6,8,3,1,7
43—F— (2,4,5),6,8,3,1,7
[ RN
B OB 8 180M 714K 5-8 190 B E 5-8 440/ &R 4-5-8 600M
8 B 8 110 4-8 320M B H 8-5 690 JEH 8-5-4 2,140
5 130M4 4-5 270
4 130H4

ABICOVWTRDTEEERROODE. TR LIV,




